Speed Drill






Name _______________________________________








Period ______________ Date ____________________

Answer these questions by completing the following steps:

1) Write the knowns and unknowns.

2) Write the variable equation.

3) Substitute.

4) Solve.

5) Express your answer with the proper units.

6) Draw a box around your final answer.

1) A police car is traveling at a speed of 30m/s.  If it must get to a crime scene that is 4km away, how long will it take?

2) A cat is trying to catch a piece of string that moves 12m in 15 s.  How fast is the string moving?

3) A snowplow is plowing a highway driving at a speed of 3m/s.  If the road takes 2h to plow, how far did it go?
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4) Use the graph above to answer the following questions:

a. At a time of 5 s, where is the groundhog located?

b. At a time of 15s, where is the groundhog located?

c. What is the groundhog’s average speed from a time of 5s to a time of 15s?
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